

---

---

## On the Diophantine Equation $3^x + n^y = z^3$

Suton Tadee<sup>1\*</sup>

<sup>1</sup>Department of Mathematics, Faculty of Science and Technology,  
Thepsatri Rajabhat University, Lop Buri, 15000, Thailand

\*E-mail: suton.t@lawasri.tru.ac.th

---

### Abstract

By using elementary methods and Mihăilescu's Theorem, the non-existence of integer solutions for the title Diophantine equation is investigated, where  $n$  is a positive integer and  $x, y, z$  are non-negative integers with some conditions.

**Keywords:** Diophantine equation, Mihăilescu's Theorem, Congruence

### 1. Introduction

Let  $m$  and  $n$  be positive integers. In the past ten years, many mathematical researchers have been studying the Diophantine equations of the form  $m^x + n^y = z^c$ , where  $c = 2$ , see [1], [2], [3], [4], [5], [6], [7] and [8]. Moreover, Tadee and Siraworakun [9] presented some conditions for the non-existence of positive integer solutions of the Diophantine equation  $p^x + (p + 2q)^y = z^2$ , where  $p, q$  and  $p + 2q$  are prime numbers.

Meanwhile, the Diophantine equation was investigated, when  $c = 3$ . For example, Burshtein ([10], [11], [12] and [13]) studied the Diophantine equation  $p^x + q^y = z^3$ , where  $p$  and  $q$  are prime numbers. Recently, Tadee [14] found all non-negative integer solutions of the Diophantine equation  $8^x + p^y = z^3$ , where  $p$  is a prime number.

In this paper, we study and find the conditions of the non-existence of integer solutions for the Diophantine equation

$$3^x + n^y = z^3, \quad (1)$$

where  $n$  is a positive integer and  $x, y, z$  are non-negative integers.

### 2. Methodology

In this section, we begin by introducing the helpful theorem, which was proved by Mihăilescu [15] in 2004:

**Theorem 1.** (*Mihăilescu's Theorem*) [15] The equation  $a^x - b^y = 1$  has the only solution  $(a, b, x, y) = (3, 2, 2, 3)$ , where  $a, b, x$  and  $y$  are integers with  $\min\{a, b, x, y\} > 1$ .

---

\* Corresponding author, e-mail: suton.t@lawasri.tru.ac.th

**Corollary 2.** The equation  $3^x + 1 = z^3$  has no non-negative integer solution.

**Proof.** Assume that there exist non-negative integers  $x$  and  $z$  such that  $3^x + 1 = z^3$  or  $z^3 - 3^x = 1$ . It is easy to check that  $x > 1$  and  $z > 1$ . It follows that  $\min\{z, 3, 3, x\} > 1$ , which is impossible by Theorem 1.

Now, we present some basic properties of congruence, which will be used to prove our results.

**Lemma 3.** Let  $a$  be an integer. Then

(i)  $a^3 \equiv 0, 1, 3, 5, 7 \pmod{8}$ ,

(ii)  $a^3 \equiv 0, 1, 5, 8, 12 \pmod{13}$ .

**Proof.**

(i) By the division algorithm, there exist integers  $q$  and  $r$  with  $r \in \{0, 1, 2, \dots, 7\}$  such that  $a = 8q + r$ . We consider the following cases:

Case 1.  $r = 0$ . Then  $a \equiv 0 \pmod{8}$  and so  $a^3 \equiv 0^3 \equiv 0 \pmod{8}$ .

Case 2.  $r = 1$ . Then  $a \equiv 1 \pmod{8}$  and so  $a^3 \equiv 1^3 \equiv 1 \pmod{8}$ .

Case 3.  $r = 2$ . Then  $a \equiv 2 \pmod{8}$  and so  $a^3 \equiv 2^3 \equiv 0 \pmod{8}$ .

Case 4.  $r = 3$ . Then  $a \equiv 3 \pmod{8}$  and so  $a^3 \equiv 3^3 \equiv 3 \pmod{8}$ .

Case 5.  $r = 4$ . Then  $a \equiv 4 \pmod{8}$  and so  $a^3 \equiv 4^3 \equiv 0 \pmod{8}$ .

Case 6.  $r = 5$ . Then  $a \equiv 5 \pmod{8}$  and so  $a^3 \equiv 5^3 \equiv 5 \pmod{8}$ .

Case 7.  $r = 6$ . Then  $a \equiv 6 \pmod{8}$  and so  $a^3 \equiv 6^3 \equiv 0 \pmod{8}$ .

Case 8.  $r = 7$ . Then  $a \equiv 7 \pmod{8}$  and so  $a^3 \equiv 7^3 \equiv 7 \pmod{8}$ .

(ii) To prove in the same way as (i).

**Lemma 4.** Let  $a$  and  $b$  be non-negative integers. Then

(i) if  $a \equiv 1, 3 \pmod{8}$ , then  $a^b \equiv 1, 3 \pmod{8}$ ,

(ii) if  $a \equiv 1, 3 \pmod{13}$ , then  $a^b \equiv 1, 3, 9 \pmod{13}$ .

**Proof.**

(i) Case 1.  $a \equiv 1 \pmod{8}$ . Then  $a^b \equiv 1 \pmod{8}$ .

Case 2.  $a \equiv 3 \pmod{8}$ .

If  $b = 2k$  for some non-negative integer  $k$ , then  $a^b \equiv 3^{2k} \equiv 1 \pmod{8}$ .

If  $b = 2k + 1$  for some non-negative integer  $k$ , then  $a^b \equiv 3^{2k+1} \equiv 3 \pmod{8}$ .

(ii) Case 1.  $a \equiv 1 \pmod{13}$ . Then  $a^b \equiv 1 \pmod{13}$ .

Case 2.  $a \equiv 3 \pmod{13}$ .

If  $b = 3k$  for some non-negative integer  $k$ , then  $a^b \equiv 3^{3k} \equiv 1 \pmod{13}$ .

If  $b = 3k + 1$  for some non-negative integer  $k$ , then  $a^b \equiv 3^{3k+1} \equiv 3 \pmod{13}$ .

If  $b = 3k + 2$  for some non-negative integer  $k$ , then  $a^b \equiv 3^{3k+2} \equiv 9 \pmod{13}$ .

### 3. Results

In this section, we investigate some conditions of the non-existence of non-negative integer solutions for the equation (1).

**Theorem 5.** If  $n \equiv 1, 3 \pmod{8}$ , then the equation (1) has no non-negative integer solution.

**Proof.** Let  $n \equiv 1, 3 \pmod{8}$ . Assume that the equation (1) has a non-negative integer solution. By Lemma 4(i), we get  $3^x \equiv 1, 3 \pmod{8}$ . Since  $n \equiv 1, 3 \pmod{8}$  and Lemma 4(i), we obtain  $n^y \equiv 1, 3 \pmod{8}$ . We consider the following cases:

Case 1.  $3^x \equiv 1 \pmod{8}$  and  $n^y \equiv 1 \pmod{8}$ . Then  $3^x + n^y \equiv 2 \pmod{8}$ .

Case 2.  $3^x \equiv 1 \pmod{8}$  and  $n^y \equiv 3 \pmod{8}$ . Then  $3^x + n^y \equiv 4 \pmod{8}$ .

Case 3.  $3^x \equiv 3 \pmod{8}$  and  $n^y \equiv 1 \pmod{8}$ . Then  $3^x + n^y \equiv 4 \pmod{8}$ .

Case 4.  $3^x \equiv 3 \pmod{8}$  and  $n^y \equiv 3 \pmod{8}$ . Then  $3^x + n^y \equiv 6 \pmod{8}$ .

Thus  $3^x + n^y \equiv 2, 4, 6 \pmod{8}$ . From the equation (1), it implies that  $z^3 \equiv 2, 4, 6 \pmod{8}$ . This is impossible by Lemma 3(i).

**Theorem 6.** If  $n \equiv 5, 7 \pmod{8}$  and  $y$  is even number, then the equation (1) has no non-negative integer solution.

**Proof.** Let  $n \equiv 5, 7 \pmod{8}$  and let  $y$  be even number. Assume that the equation (1) has a non-negative integer solution. Since  $n \equiv 5, 7 \pmod{8}$  and  $y$  is even number, we obtain  $n^y \equiv 1 \pmod{8}$ . By Lemma 4(i), we have  $3^x \equiv 1, 3 \pmod{8}$ . Since  $n^y \equiv 1 \pmod{8}$ , we get  $3^x + n^y \equiv 2, 4 \pmod{8}$ . From the equation (1), it implies that  $z^3 \equiv 2, 4 \pmod{8}$ . This is impossible by Lemma 3(i).

**Theorem 7.** If  $n \equiv 1 \pmod{13}$ , then the equation (1) has no non-negative integer solution.

**Proof.** Let  $n \equiv 1 \pmod{13}$ . Assume that the equation (1) has a non-negative integer solution. Since  $n \equiv 1 \pmod{13}$ , we have  $n^y \equiv 1 \pmod{13}$ . By Lemma 4(ii), we get  $3^x \equiv 1, 3, 9 \pmod{13}$ . Therefore  $3^x + n^y \equiv 2, 4, 10 \pmod{13}$ . From the equation (1), we obtain  $z^3 \equiv 2, 4, 10 \pmod{13}$ . This is impossible by Lemma 3(ii).

**Theorem 8.** If  $n \equiv 1, 2 \pmod{3}$  and  $y \equiv 0 \pmod{3}$ , then the equation (1) has no non-negative integer solution.

**Proof.** Let  $n \equiv 1, 2 \pmod{3}$  and  $y \equiv 0 \pmod{3}$ . Assume that the equation (1) has a non-negative integer solution. Since  $y \equiv 0 \pmod{3}$ , we get  $y = 3h$  for some non-negative integer  $h$ . From the equation (1), it implies that

$$(z - n^h)(z^2 + z \cdot n^h + n^{2h}) = 3^x. \tag{2}$$

Then there exists a non-negative integer  $v$  such that

$$z - n^h = 3^v \tag{3}$$

$$\text{and } z^2 + z \cdot n^h + n^{2h} = 3^{x-v}. \tag{4}$$

From the equation (3) and (4), we have

$$3^{2v} + 3^{v+1} \cdot n^h + 3 \cdot n^{2h} = 3^{x-v}. \tag{5}$$

Assume that  $v = 0$ . Then  $1 + 3 \cdot n^h + 3 \cdot n^{2h} = 3^x$  and so  $1 \equiv 0 \pmod{3}$ , a contradiction. Thus  $v > 0$ . From the equation (5), we get

$$3^{2v-1} + 3^v \cdot n^h + n^{2h} = 3^{x-v-1}. \tag{6}$$

It follows that  $h > 0$  and so  $n \equiv 0 \pmod{3}$ . This is impossible since  $n \equiv 1, 2 \pmod{3}$ .

**Lemma 9.** If  $n \equiv 0 \pmod{13}$  and the equation (1) has a non-negative integer solution, then  $x \equiv 0 \pmod{3}$ .

**Proof.** Let  $n \equiv 0 \pmod{13}$  and the equation (1) has a non-negative integer solution. By Corollary 2, it implies that  $y > 0$ . Since  $n \equiv 0 \pmod{13}$  and the equation (1), we obtain  $3^x \equiv z^3 \pmod{13}$ . By Lemma 3(ii), it follows that  $3^x \equiv 0, 1, 5, 8, 12 \pmod{13}$ . Assume that  $x \not\equiv 0 \pmod{3}$ . Then  $x \equiv 1, 2 \pmod{3}$ . We consider the following cases:

Case 1.  $x \equiv 1 \pmod{3}$ . There exists a non-negative integer  $k$  such that  $x = 3k + 1$ . It implies that  $3^x = 3^{3k+1} = 3 \cdot 27^k \equiv 3 \cdot (1)^k \equiv 3 \pmod{13}$ . This is impossible since  $3^x \equiv 0, 1, 5, 8, 12 \pmod{13}$ .

Case 2.  $x \equiv 2 \pmod{3}$ . There exists a non-negative integer  $k$  such that  $x = 3k + 2$ . It implies that  $3^x = 3^{3k+2} = 9 \cdot 27^k \equiv 9 \cdot (1)^k \equiv 9 \pmod{13}$ . This is impossible since  $3^x \equiv 0, 1, 5, 8, 12 \pmod{13}$ .

From Cases 1 and 2, we get  $x \equiv 0 \pmod{3}$ .

**Theorem 10.** If  $n = 13$ , then the equation (1) has no non-negative integer solution.

**Proof.** Let  $n = 13$ . Assume that the equation (1) has a non-negative integer solution. By Lemma 9, we have  $x \equiv 0 \pmod{3}$ . Then  $x = 3k$  for some non-negative integer  $k$ . From the equation (1), we get

$$(z - 3^k)(z^2 + z \cdot 3^k + 3^{2k}) = 13^y. \quad (7)$$

Then there exists a non-negative integer  $u$  such that

$$z - 3^k = 13^u \quad (8)$$

$$\text{and } z^2 + z \cdot 3^k + 3^{2k} = 13^{y-u}. \quad (9)$$

From the equation (8) and (9), we have

$$13^{2u} + 13^u \cdot 3^{k+1} + 3^{2k+1} = 13^{y-u}. \quad (10)$$

Assume that  $u > 0$ . Then  $3^{2k+1} \equiv 0 \pmod{13}$ . This is impossible by Lemma 4(ii). Therefore  $u = 0$  and so

$$1 + 3^{k+1} + 3^{2k+1} = 13^y. \quad (11)$$

By Lemma 4(ii), we get  $3^k \equiv 1, 3, 9 \pmod{13}$ . We consider the following cases:

Case 1.  $3^k \equiv 1 \pmod{13}$ . It follows that  $1 + 3^{k+1} + 3^{2k+1} \equiv 1 + 3 \cdot 1 + 3 \cdot 1^2 \equiv 7 \pmod{13}$ .

Case 2.  $3^k \equiv 3 \pmod{13}$ . It follows that  $1 + 3^{k+1} + 3^{2k+1} \equiv 1 + 3 \cdot 3 + 3 \cdot 3^2 \equiv 37 \equiv 11 \pmod{13}$ .

Case 3.  $3^k \equiv 9 \pmod{13}$ . It follows that  $1 + 3^{k+1} + 3^{2k+1} \equiv 1 + 3 \cdot 9 + 3 \cdot 9^2 \equiv 271 \equiv 11 \pmod{13}$ .

By Cases 1, 2 and 3, we have  $1 + 3^{k+1} + 3^{2k+1} \equiv 7, 11 \pmod{13}$ . From the equation (11), we get  $3^y \equiv 7, 11 \pmod{13}$ . This is impossible since  $13^y \equiv 0, 1 \pmod{13}$ .

**Theorem 11.** If  $n = 39$ , then the equation (1) has no non-negative integer solution.

**Proof.** Let  $n = 39$ . Assume that the equation (1) has a non-negative integer solution. If  $x \geq y$ , from the equation (1), we have

$$3^y(3^{x-y} + 13^y) = z^3. \quad (12)$$

Since  $\gcd(3^y, 3^{x-y} + 13^y) = 1$ , there exists a positive integer  $t$  such that

$$3^{x-y} + 13^y = t^3. \quad (13)$$

This is impossible by Theorem 10. Thus  $x < y$ . From the equation (1), we have

$$3^x(1 + 3^{y-x} \cdot 13^y) = z^3. \quad (14)$$

Since  $\gcd(3^x, 1 + 3^{y-x} \cdot 13^y) = 1$ , there exists a positive integer  $s$  such that

$$1 + 3^{y-x} \cdot 13^y = s^3. \quad (15)$$

Therefore

$$(s - 1)(s^2 + s + 1) = 3^{y-x} \cdot 13^y. \quad (16)$$

Then there exist non-negative integers  $u$  and  $v$  such that

$$s - 1 = 3^u \cdot 13^v \quad (17)$$

$$\text{and } s^2 + s + 1 = 3^{y-x-u} \cdot 13^{y-v}. \quad (18)$$

From the equation (17) and (18), we have

$$3^{2u} \cdot 13^{2v} + 3^{u+1} \cdot 13^v + 3 = 3^{y-x-u} \cdot 13^{y-v}. \quad (19)$$

If  $u = 0$ , then  $13^{2v} \equiv 0 \pmod{3}$ , a contradiction. Thus  $u > 0$  and so

$$3^{2u-1} \cdot 13^{2v} + 3^u \cdot 13^v + 1 = 3^{y-x-u-1} \cdot 13^{y-v}. \quad (20)$$

Assume that  $v = 0$ . Therefore  $3^{2u-1} + 3^u + 1 \equiv 0 \pmod{13}$ . This is impossible since  $3^{2u-1} + 3^u + 1 \equiv 7, 11 \pmod{13}$ . Thus  $v > 0$ . Suppose that  $y - v = 0$ . From the equation (20), we get  $1 \equiv 0 \pmod{3}$ , a contradiction. Then  $y - v > 0$ . From the equation (20), we have  $1 \equiv 0 \pmod{13}$ , which is impossible.

#### 4. Conclusion

In this paper, we showed that the Diophantine equation  $3^x + n^y = z^3$  has no non-negative integer solution, where  $n$  is a positive integer and  $x, y, z$  are non-negative integers with the following conditions: 1)  $n \equiv 1, 3 \pmod{8}$ , 2)  $n \equiv 5, 7 \pmod{8}$  and  $y$  is even, 3)  $n \equiv 1 \pmod{13}$ , 4)  $n \equiv 1, 2 \pmod{3}$  and  $y \equiv 0 \pmod{3}$ , 5)  $n = 13$  and 6)  $n = 39$ .

#### 5. Acknowledgments

The author would like to thank the referees for their valuable comments and suggestions. This work was supported by Research and Development Institute and Faculty of Science and Technology, Thepsatri Rajabhat University, Thailand.

#### 6. References

- [1] Sroysang, B. (2014). On the Diophantine equation  $3^x + 45^y = z^2$ . *International Journal of Pure and Applied Mathematics*, 91(2), 269-272. <http://dx.doi.org/10.12732/ijpam.v91i2.14>
- [2] Qi, L. & Li, X. (2015). The Diophantine equation  $8^x + p^y = z^2$ . *The Scientific World Journal*, 2015, Article ID 306590, 3 pages. <http://dx.doi.org/10.1155/2015/306590>

- [3] Asthana, S. & Singh, M. M. (2017). On the Diophantine equation  $3^x + 13^y = z^2$ . *International Journal of Pure and Applied Mathematics*, 114(2), 301-304. <http://dx.doi.org/10.12732/ijpam.v114i2.12>
- [4] Orosram, W. & Comemuang, C. (2020). On the Diophantine equation  $8^x + n^y = z^2$ . *WSEAS Transactions on Mathematics*, 19, 520-522. <http://dx.doi.org/10.37394/23206.2020.19.56>
- [5] Tangjai, W. & Chubthaisong, C. (2021). On the Diophantine equation  $3^x + p^y = z^2$  where  $p \equiv 2 \pmod{3}$ . *WSEAS Transactions on Mathematics*, 20, 283-287. <http://dx.doi.org/10.37394/23206.2021.20.29>
- [6] Viriyapong, N. & Viriyapong, C. (2021). On the Diophantine equation  $n^x + 13^y = z^2$  where  $n \equiv 2 \pmod{39}$  and  $n + 1$  is not a square number. *WSEAS Transactions on Mathematics*, 20, 442-445. <http://dx.doi.org/10.37394/23206.2021.20.45>
- [7] Borah, P. B. & Dutta, M. (2022). On the Diophantine equation  $7^x + 32^y = z^2$  and its generalization. *Integers*, 22, 1-5.
- [8] Tadee, S. (2023). On the Diophantine equation  $n^x + 10^y = z^2$ . *WSEAS Transactions on Mathematics*, 22, 150-153. <http://dx.doi.org/10.37394/23206.2023.22.19>
- [9] Tadee, S. & Siraworakun, A. (2023). Non-existence of positive integer solutions of the Diophantine equation  $p^x + (p + 2q)^y = z^2$ , where  $p, q$  and  $p + 2q$  are prime numbers. *European Journal of Pure and Applied Mathematics*, 16(2), 724-735. <https://doi.org/10.29020/nybg.ejpam.v16i2.4702>
- [10] Burshtein, N. (2017). All the solutions of the Diophantine equation  $p^3 + q^2 = z^3$ . *Annals of Pure and Applied Mathematics*, 14(2), 207-211. <http://dx.doi.org/10.22457/apam.v14n2a1>
- [11] Burshtein, N. (2018). The infinitude of solutions to the Diophantine equation  $p^3 + q = z^3$  when  $p, q$  are primes. *Annals of Pure and Applied Mathematics*, 17(1), 135-136. <http://dx.doi.org/10.22457/apam.v17n1a15>
- [12] Burshtein, N. (2020). On solutions to the Diophantine equations  $p^x + q^y = z^3$  when  $p \geq 2, q$  are primes and  $1 \leq x, y \leq 2$  are integers. *Annals of Pure and Applied Mathematics*, 22(1), 13-19. <http://dx.doi.org/10.22457/apam.v22n1a03679>
- [13] Burshtein, N. (2021). All the solutions of the Diophantine equation  $p^3 + q^y = z^3$  with distinct odd primes  $p, q$  when  $y > 3$ . *Journal of Mathematics and Informatics*, 20, 1-4. <http://dx.doi.org/10.22457/jmi.v20a01188>
- [14] Tadee, S. (2023). The Diophantine equations  $8^x + p^y = z^3$  and  $8^x - p^y = z^3$ . *Science and Technology Nakhon Sawan Rajabhat University Journal*, 15(21), 98-106.
- [15] Mihalescu, P. (2004). Primary cyclotomic units and a proof of Catalan's conjecture. *Journal für die Reine und Angewandte Mathematik*, 572, 167-195.